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DDCE{1st)}-MA(CBCS) —
' Eco (101)

2016

Time : As in Programime
Fulf Marks : 70

The figures in the right-hand margin indicate marks.

Answr}mm all the Sections as directed.

Section - A
Answer any three questions within 700-1 000
words each : ~ 12%3 = 36

1. Explain the Leading ldeas relating to

Mercanatlism.
2. Explain the ideas of J. S. il

3. Explain socialistic ideology at St. Simon and
bring out the difference from sacialist ideas of
Karl Marx.

XX —14/3 e R ( Turn over)
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DDCE(1st)-MA
(CBCS) — Eco (103)

2016

Time : As in Programme ,

Fufl Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section-A

Answer any three questions within 700-1000
words each : 12x3 = 36
1. Explain consumers equilibrium with Indifference

Curve Analysis.

2. Define production function. Explain it with one

variable factor and others are fixed.

3. Define perfect competition market. Discuss how
a firm attains equilibrium under perfect
competition market.
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DDCE(1st)-MA
(CBCS) — Eco (104)

2016

Time : As in Programme

Full Marks 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section - A
Answer any three questions within 700-1000
words each : 12x3 = 36

1. Examine the life cycle theory of consumption

along with its limitations.

2. What is investment demand schedule 7 Describe _

the present value criterion of investment.

3. Explain the operation of Keynes' effect in
different ranges of LM function in response to a

cut in money wages.

XX - 1713 ( Tum over)
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